B2 75 (B 356 BEER)

R ST T g S [ T A
(B4 P AHL fib 5 )
T H# % = 7015 R A FN64E FH R KRR
T % 4 SRR TR HE A AL BT S 5 F e BT Lo
B M4 E
T % & g Rjgt- )i
H aSf 6 £ 8 A 7 H .
T 1 T %= fE 3l Beas HOHT Lo
ES) Sf 7T £ 1 A 31 H
f8 4 # R B4 B MLSINE S FE R EOR N ES B4
EHLEE 4 #BRZEAXT 72 T o i FRBRLTRR—T HIELE
% fL & # ¥ 12,700,000~ (Fik) R & ¥ 13,330,000~ (Bik)
T E Al FELNBH S S
5 1B #6147 FELNBH
T T TR0 % A
& R %
& K ¥ 13,970,000-  (BiiA) moAa ® 95.27%  Cx¥ALe#A+ato%E)
i Uik MHRER 1R AFLE | SF0 6 4 8 H 5 H
¥ & g4 & # ¥ = Ed & f
1 RIPRPEZFEFR) 13,230,000 |11
2| BR/INIEUERT 13,200,000 |12
3| BRFAxTIUR 12,700,000 |13
4 =7 13,000,000 |14
ﬁjﬁﬁﬁfg 5 A & T 23E0R) 13,130,000 |15
6 BNl 16
7 17
8 18
9 19
10 20
ERTEHESIROIE TR
AN O Nt o =
DEE%\%% B— £ j%u £ A H
> ES) S G SR A




